= “é Q i @ Multiplicar por potencias de diez (nimero faltante)

Nombre: Fecha: Puntuacion:
7,104 x = 7104 1,013 x =10.13
2,166 x =216.6 9, 829 x = 9829
3,197 x =31.97 6,975 x = 6975
10, 464 x = 1046.4 1,63 x = 1630
8, 85 x = 88.5 1, 648 x = 164.8
7,981 x = 7981 8,24 x = 8240
4,246 x = 424.6 8, 287 x = 8287
8, 178 x =817.8 2,389 x =238.9
5,103 x =51.03 9,043 x =904.3
4,642 x = 46.42 2, 685 x = 268.5
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= §é 8 i @ Multiplicar por potencias de diez (nimero faltante)

Nombre: Fecha: Puntuacion:
7,104 x 100 = 710.4 1,013 x 10 =10.13
2,166 x 100 = 216.6 9, 829 x 1000 = 9829
3,197 x 10 =31.97 6, 975 x 1000 = 6975
10,464 x 100 = 1046.4 1,63 x 1000 = 1630
8,85 x 10 = 88.5 1,648 x 100 = 164.8
7,981 x 1000 = 7981 8,24 x 1000 = 8240
4,246 x 100 = 424.6 8,287 x 1000 = 8287
8,178 x 100 = 817.8 2,389 x 100 = 238.9
5,103 x 10 =51.03 9,043 x 100 = 904.3
4,642 x 10 =46.42 2,685 x 100 = 268.5
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